AAAAAAA

Welcome

Oak Hill Parkway
Design Workshop
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“dr = The No-build Alternative, which only includes
the interim intersection improvements being

" implemented by TXDOT, is a good solution for
the Oak Hill Parkway Project.
o
A. Strongly Agree
B. Agree 23% 23%
C. Neutral
D. Disagree Pl
E. Strongly 0%
Disagree EEC



I The 2007 Alternative, often referred to as
“Option 4,” is a good solution for the Oak Hill
Parkway Project.

PARKWAY

58%

A. Strongly Agree
B. Agree

C. Neutral

D. Disagree

E. Strongly
Disagree
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a Concept A (290 Depressed Mainlanes) Is a
~+rcwar good solution for the Oak Hill Parkway Project.

45%

Strongly Agree
Agree

Neutral
Disagree

Strongly
Disagree
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Y @ Concept B (290 Mainlanes North of Creek
without Direct Connects) is a good solution for
the Oak Hill Parkway Project.
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30%

Strongly Agree
Agree

Neutral
Disagree

Strongly
Disagree
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Y, € ~  Concept C (290 Mainlanes North of Creek with
Direct Connects) Is a good solution for the
Oak Hill Parkway Project.
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Strongly Agree
Agree

Neutral
Disagree

Strongly
Disagree
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Y & Concept D (290 Express Lanes) is a good
PARKWA Y solution for the Oak Hill Parkway Project.

5%

Strongly Agree

Agree

Neutral 19%
i 16%

Disagree

10% 10%
Strongly
Disagree
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I Concept E1 (Minimum improvements at
William Cannon and 71) is a good solution for

PARKWAY . .
the Oak Hill Parkway Project.
A. Strongly Agree oLk
B. Agree
C. Neutral
D. Disagree ™
E. Strongly = w0
Disagree
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I Concept E2 (Minimum improvements at
William Cannon) is a good solution for
the Oak Hill Parkway Project.
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Strongly Agree
Agree

Neutral
Disagree

Strongly 10% 1%
Disagree
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r’ ©  Option 1 (Extend West Transition Past Circle

PARKWAY
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Drive) Is a good solution for the
Oak Hill Parkway Project.

50%
Strongly Agree
Agree
Neutral
Disagree

Strongly
Disagree
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a The Oak Hill Parkway project team is moving In
PARKWAY the right direction.
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Strongly Agree
Agree

Neutral
Disagree

Strongly
Disagree
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